
Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Multiplique por potências de dez (número ausente)

6, 776 × ________ = 67.76 4, 557 × ________ = 4557

1, 577 × ________ = 1577 1, 835 × ________ = 18.35

1, 21 × ________ = 1210 2, 24 × ________ = 224

7, 965 × ________ = 796.5 3, 919 × ________ = 391.9

2, 992 × ________ = 2992 9, 539 × ________ = 953.9

3, 653 × ________ = 36.53 9, 601 × ________ = 960.1

7, 656 × ________ = 765.6 8, 426 × ________ = 8426

2, 225 × ________ = 2225 6, 148 × ________ = 61.48

9, 032 × ________ = 9032 5, 788 × ________ = 578.8

10, 186 × ________ = 101.86 3, 584 × ________ = 35.84

www.snowmath.com

https://www.snowmath.com


Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Multiplique por potências de dez (número ausente)

6, 776 × 10 = 67.76 4, 557 × 1000 = 4557

1, 577 × 1000 = 1577 1, 835 × 10 = 18.35

1, 21 × 1000 = 1210 2, 24 × 100 = 224

7, 965 × 100 = 796.5 3, 919 × 100 = 391.9

2, 992 × 1000 = 2992 9, 539 × 100 = 953.9

3, 653 × 10 = 36.53 9, 601 × 100 = 960.1

7, 656 × 100 = 765.6 8, 426 × 1000 = 8426

2, 225 × 1000 = 2225 6, 148 × 10 = 61.48

9, 032 × 1000 = 9032 5, 788 × 100 = 578.8

10, 186 × 10 = 101.86 3, 584 × 10 = 35.84
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